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Work Space 1
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5. The sum of 6,235 + 4,681 is a littie more than —
A 10,000 € 14,000
B 12,000 D 16,000
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THURSDAY
1. Gustav and Phillpe chartered a fishing boet to go deep sea
fishing. They departed the marina at 5:45 A.M. If hey relumed
1o the dock at 3; 11 .M. how long were they out fishing?

2. Teddy end Vanessa decided to have a garage sale on
Seturday. They advertised in the newspaper thot the sale would
begin at 6:30 A.M. and last until 4:15 P.M. How long will Teddy
and Vanessa have to sel thei items?

Number1 Number 2

== =
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‘Which of the following expressions is solved correctly

using the order of operations?
M) 54-(3x5)x3+8 B)S4-(3x5)x3+8
51x5x3+8 54-15x3+8
255x3+8 39x3+8
765 +8 17+8
m 125
0 54-(3x5)x3+8 D) 54-(3x5)x3+8
54-15x3+8 54-15x3+8
54-45+8 54-45+8
9+8 54-53

17 1
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WEDNESDAY
1. Jason set out to run some errands. He left is house at

11:40 AM. If he retumed home at 3:05 .M., how long was he
out?

2. Cassandra is making a cheesecake. She puts itn the oven at
1:26 P.M. and doesnt take it out unti 4:56. How long did t take
for the cheesecake to cook?

‘Number 2
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Elapsed Time HW.
TUESDAY
1. Saturday afternoon, Lisa and her friend Penny went for a
hike at 9:25 A.M. They retumed home at 7:10 P.M. How long
were they hiking?

—h____min.
2. Mr. Anderson went to see a movie. The movie started at
4:20 P.M. When the movie was over, his watch read 6:30 P.M.
How long did the movie last?
min.

_n

Number 1 ‘Number 2
e [ [C)—
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Multiply the following
20x6- s0x6=
Use the distributive property to solve each of the following:
730 +5) =
202 -
630+2)=
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4. Marcel went to a concert. There were 18,209 total people at
the concert and 13,015 of those people were males. How many
people were female?
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5. Theum o 6235 + 481 1 a e mere tan -
Ao oo
812000




